
 

3630/(Set : A)            P. T. O. 

CLASS : 12th (Sr. Secondary)       Code No. 3630 

Series : SS-M/2018 

Roll No.           

tho foKkutho foKkutho foKkutho foKku    
BIOLOGY 

[ Hindi and English Medium ] 

ACADEMIC/OPEN 

(Only for Fresh/Re-appear Candidates) 

Time allowed : 3 hours ]             [ Maximum Marks : 60  

•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr iz'u 18 gSaA  

Please make sure that the printed question paper are contains 18 

questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj&iqfLrdk ds 
eq[;&i`"B ij fy[ksaA 

The Code No. and Set on the right side of the question paper should be 

written by the candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 

Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk 

mÙkj u dkVsaA 

SET : A 
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Except answer-book, no extra sheet will be given. Write to the point and do 

not strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds ijh{kk ds ijh{kk ds ijh{kk ds 

mijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the 

correct and complete question paper, no claim in this regard, will be 

entertained after examination. 

    

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k % –    
 (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

 (ii) bl ç'u-i= esa dqy 18 iz'u gSa] tks pkjpkjpkjpkj [k.Mksa % v] c] lv] c] lv] c] lv] c] l rFkk n n n n esa foHkDr  gSaA 

 (iii) [k.M &[k.M &[k.M &[k.M & vvvv ds iz'u la[;k 1 esa ckjgckjgckjgckjg (i-xii) oLrqfu"B iz'u gSaA iz'u (i) ls (viii) rd 

cgqfodYih; iz'u gSaA izR;sd iz'u esa pkj fodYi fn, x, gSa ftlesa ls lghlghlghlgh fodYi dk 

p;u dhft,A iz'u (ix) ls (xii) rd izR;sd dk mÙkj ,d,d,d,d ;k nksnksnksnks 'kCnksa ;k okD;ksa esa 

nhft,A izR;sd iz'u 1 vad dk gSA 

 (iv) [k.M[k.M[k.M[k.M &&&& cccc esa iz'u la[;k 2 ls 10 rd vfr-y?kwÙkjkRed iz'u gSa] izR;sd ds 2 vad gSaA 

 (v) [k.M &[k.M &[k.M &[k.M & llll esa iz'u la[;k 11 ls 15 rd y?kwÙkjkRed iz'u gSa] izR;sd ds 3 vad gSaA 

 (vi) [k.M[k.M[k.M[k.M     & n& n& n& n esa iz'u la[;k 16 ls 18 rd nh?kZ mÙkjkRed iz'u gaS] izR;sd ds 5 vad gSaA 
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 (vii) [k.M[k.M[k.M[k.M     & n& n& n& n ¼nh?kZ mÙkjkRed iz'u½ ds nksnksnksnks iz'uksa esa vkUrfjd fodYi miyC/k gSA ,sls iz'uksa 

esa ls vkidks nh x;h NwV esa ls dsoy ,d,d,d,d gh iz'u djuk gSA 

General Instructions :        –    

 (i) All questions are compulsory. 

 (ii) This question paper contains 18 questions, which are divided into 

four Sections : A, B, C  and D. 

 (iii) Section – A contains question number 1 having twelve (i-xii) objective 

type questions. Each question carries 1 mark. Question from (i) to (viii) 

multiple choice type questions. Each question carries four options, from 

which choose the correct option. The answer of each question from (ix) to 

(xii) may be given in one or two words or sentences.  

 (iv) Section – B contains question numbers 2 to 10 of very short answer 

type questions and carry 2 marks each. 

 (v) Section – C contains question numbers 11 to 15 of short answer type 

questions and carry 3 marks each. 

 (vi) Section – D contains question numbers 16 to 18 of long answer type 

questions and carry 5 marks each. 

 (vii) Internal choice is available in two questions of Section-D (Long 

Answer Type Questions). You have to attempt only one of the given 

choice in such questions. 

[k.M[k.M[k.M[k.M – vvvv    

SECTION –  A 

¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½    

(Objective Type Questions) 

  1. (i) fuEufyf[kr esa ls dkSu-lk f}fyaxh gS \ 1 
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  (A) VsioeZ 

  (B) tksad 

  (C) (A) vkSj (B) nksuksa 

  (D) xksyÑfe 

  Which of the following is hermaphrodite ? 

  (A) Tapeworm 

  (B) Leech 

  (C) Both (A) and (B) 

  (D) Roundworm 

 (ii) fuEufyf[kr esa ls fdldk vuqys[ku rRNA ikWfyejst&II }kjk gksrk gS \ 1 

  (A) tRNA 

  (B) 5s rRNA 

  (C) Sn RNA 

  (D) Hn RNA 

  Which of the following is transcribed by rRNA polymerase-II ? 

  (A) tRNA 

  (B) 5s rRNA 

  (C) Sn RNA 

  (D) Hn RNA 

 (iii) fuEufyf[kr esa ls dkSu&lk izdwV fdlh vehuks vEy dk dwV ys[ku ughaughaughaugha djrk gS \ 1 

  (A) UAA 
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  (B) UAG 

  (C) (A) vkSj (B) nksuksa 

  (D) UAC 

  Which of the following codon does not code for any amino acid ? 

  (A) UAA 

  (B) UAG 

  (C) Both (A) & (B) 

  (D) UAC 

 (iv) ykscsfQu fdlesa fodflr gq, \ 1 

  (A) mHk;pj 

  (B) ljhl`i 

  (C) i{kh 

  (D) Lru/kkjh 

  Lobefin evolved into : 

  (A) Amphibian 

  (B) Reptile 

  (C) Bird 

  (D) Mammal 
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 (v) fuEufyf[kr esa ls dkSu&lk Lora= :i ls ukbVªkstu dks fLFkj djus okyk thok.kq gS \

 1 

  (A) L;wMkseksukl 

  (B) ,st+ksVkscSDVj 

  (C) jkbt+ksfc;e 

  (D) ukbVªkslkseksukl 

  Which of the following is a free living nitrogen fixing bacteria ? 

  (A) Pseudomonas 

  (B) Azotobacter 

  (C) Rhizobium  

  (D) Nitrosomonas 

 (vi) leqnzh ,suheksu vkSj Dykmu eNyh fdl ikjLifjd fØ;k dk mnkgj.k gS \ 1 

  (A) Li/kkZ 

  (B) lgHkksftrk 

  (C) varjtkrh; ijthfork 

  (D) ijthfork 

  Interaction between sea anemone and clown fish is an example of : 

  (A) Competition 

  (B) Commensalism 
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  (C) Amensalism 

  (D) Parasitism 

 (vii) ykbdsu vkSj ekWl voLFkk fdl izdkj dk vuqØe gS \ 1 

  (A) tyh; vuqØe 

  (B) nynyh; vuqØe 

  (C) jsrh; vuqØe  

  (D) e#n~fHkn~ vuqØe  

  Lichens and Mosses are the stages of which type of succession ? 

  (A) Hydrarch 

  (B) Marsh 

  (C) Psammarch 

  (D) Xerarch 

 (viii) fuEufyf[kr esa ls dkSu-lk dkjd tSo fofo/krk ds fy, [krjk ughaughaughaugha gS \ 1 

  (A) fons'kh iztkfr;ksa dk izos'k 

  (B) oU; thou vHk;kj.; 

  (C) vkokl dk Ðkl 

  (D) iznw"k.k 

  Which of the following is not a threat to biodiversity ? 
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  (A) Introduction of exotic species 

  (B) Wild life sanctuaries 

  (C) Habitat loss 

  (D) Pollution 

 (ix) ;qXed lay;u D;k gS \ 1 

  What is syngamy ?  

 (x) ZIFT fof/k D;k gS \ 1 

  What is ZIFT technique ? 

 (xi) Å.kZd D;k gS \  1 

  What is flocs ?  

 (xii)  ,syu ds fu;e dks ifjHkkf"kr dhft,A 1 

  Define Allen's rule. 

[k.M[k.M[k.M[k.M – cccc    

SECTION –  B 

¼vfr¼vfr¼vfr¼vfr-y?kwÙkjkRed iz'u½y?kwÙkjkRed iz'u½y?kwÙkjkRed iz'u½y?kwÙkjkRed iz'u½    

(Very Short Answer Type Questions) 
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  2. vaMokfguh ufydk dh lajpuk fyf[k,A 2 

 Write down the structure of fallopian tube. 

  3. xHkZfujks/kd dh jks/k fof/k;ksa ds ckjs esa fyf[k,A 2 

 Write about barrier methods of contraception. 

  4. mUuk;d vkSj lekid thu esa vUrj Li"V dhft,A 2 

 Differentiate between promoter and terminator gene. 

  5. dksf'kdk esa izksVhu la'ys"k.k ds fy, lHkh rhuksa izdkj ds vkj ,u , D;ksa vko';d gSa \ 2 

 Why are all the three types of RNAs needed to synthesize a protein in a 

cell ? 

  6. LiksaVsfu;l tujs'ku dk fl)kUr D;k gS \ ml oSKkfud dk uke fyf[k,] ftlus bls [kkfjt 

fd;kA 2 

 What is the theory of spontaneous generation ? Name the scientist who 

dismissed it. 

  7. LVªsIVksdkbust fdl thok.kq ls mRiUu gksrk gS \ bldh D;k Hkwfedk gS \ 2 

 From which microbes, the streptokinase is produced. What is its role ? 

  8. LFkkukarj.k dh izfØ;k esa jkbckslkse fdl izdkj dk;Z djrk gS \ 2 
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 How does ribosome work in the process of translation ? 

  9. ifo= miou D;k gS \ laj{k.k esa mudh Hkwfedk ds ckjs esa fyf[k,A 2 

 What are sacred groves ? Write down their role in conservation. 

10. tSo fofo/krk {kfr esa vfrnksgu dh D;k Hkwfedk gS \ 2 

 What is the role of over-exploitation in biodiversity loss ? 

[k.M[k.M[k.M[k.M – llll    

SECTION –  C 

¼y?kwÙkjkRed iz'u½¼y?kwÙkjkRed iz'u½¼y?kwÙkjkRed iz'u½¼y?kwÙkjkRed iz'u½    

(Short Answer Type Questions) 

11. 'kqØtud ufydkvksa ds vkjs[kh; dkV dk ukekafdr fp= cukb,A  

3 

 Draw a well labelled diagram of sectional view of a seminiferous tubule. 

12. ,ythZ D;k gksrh gS \ ;g dSls gksrh gS vkSj blds y{k.k D;k gksrs gSa \ 3 

 What is Allergy ? How does it take place & what are its symptoms ? 

13. ekuo dY;k.k esa i'kqikyu dh D;k Hkwfedk gS \ 3 

 What is the role of animal husbandry  in human welfare ? 
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14. Mh ,u , dks fof'k"V LFkyksa ij fdl izdkj dkVk tk ldrk gS \   

3 

 How can DNA be cut at specific locations ? 

15. tSo vko/kZu ¼ck;kseSfXufQds'ku½ dk o.kZu dhft,A 3 

 Discuss biomagnification. 

[k.M[k.M[k.M[k.M – nnnn    

SECTION –  D 

¼nh?kZ mÙkjkRed iz'u½¼nh?kZ mÙkjkRed iz'u½¼nh?kZ mÙkjkRed iz'u½¼nh?kZ mÙkjkRed iz'u½    

(Long Answer Type Questions) 

16. ijkxd.k dh lajpuk dk foLrkj ls o.kZu dhft,A 5 

 Describe the structure of pollen grain in detail. 

17. lg izHkkfork D;k gS \ ,d mnkgj.k lfgr o.kZu dhft,A 5 

 What is co-dominance ? Explain with an example. 

vFkokvFkokvFkokvFkok    

OR    
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    ekuo esa ik, tkus okys fofHkUu Øksekslksey fodkjksa dk o.kZu dhft,A 5  

 Describe various chromosomal disorders found in human beings. 

18. dks'kdh; lqj{kk dh vkj ,u , varj{ksi fof/k D;k gS \ ,d mnkgj.k lfgr O;k[;k dhft,A

 5 

 What is RNA interference technique of cellular defence ? Explain with 

an example. 

vFkokvFkokvFkokvFkok    

OR    

    thu fpfdRlk D;k gS \ ,Mhukslhu fM,ehust+ ¼, Mh ,½ dh deh dk mnkgj.k nsrs gq, o.kZu 

dhft,A 5 

 What is gene therapy ? Illustrate using the example of adenosine 

deaminase (ADA) deficiency. 

ssss    

 


